m;=100. MeV (mass 1)

e
3 [ -
@ Pdint, 34 conﬁ’gs
5 2 S . m33, I9eonfigs ‘. ]
43| [ ® Rgplaced, 19 confjgs
.Q>) [ AR 4 n n . *
g 1r . ¢ ¢ . 1
o r .’ "0
Q{q I * * b
Q [ - o ™ i
£ ( |ecssssstissssnnnsnssssat® L LT TP RTEe—
é [ i
3 o® o
> —1r e o e © 7
L TS
-2 L L I L I P RS SR B
0 10 20 30 40 50 60
t
m;=210. MeV (mass 4)
g 2r * - ]
g e *e0
m * *nm H 4% o
2 1+ ¢ 0‘ l: :l ‘0 ¢ B
3 . : : .
% I * L ='
T 0 m..n.m"“ “"'Muuﬁ......
Lo
3
>
1+ i
-*, . PN . o'
. 1 1 P P 1 |- . L
0 10 20 30 40 50 60
t
m;=290. MeV (mass 7)
15 Yy ‘ T T Yy —
[ - -
5 10F ¢ * R
= [ n n
% - RS o
* * *
'% 05+ .’o.l ‘0 0‘ LR RS 7
o) * ] ]
PO S s
lS 0.0 o
8
>
-05r b
%
L 1 . P L P P R |- L P |- .
0 10 20 30 40 50 60
t
m;=350. MeV (mass 10)
20 T b
1.5 * M b
‘g i ¢ = =
m L e ¢ * P ]
g 1.0 : Q““ - - o ‘0
= [ . u L
2 " ’
2 v cbennasanasenns®®e® ."'""'"l-gnn—
lS 0.0 i
3]
L 05 b
-10F . . 1
C L 1 1 1 L 1 |- . L
0 10 20 30 40 50 60
t
m;=450. MeV (mass 13)
.- .
* *
5 2r * * o ¢ bl
= - -
M * o LN o ¥ * o
.g 1F * 0“. "‘0 * B
§ o onm on [ L] e .
&’ i * % n o om** ]
2 7.........-@“"“’ et """"l"m:.....,’
é 0y 1
3
>
-1t i
[ |
L P . L P . P P 1 P P |- P L |- P . L
0 10 20 30 40 50 60
t

vector—sc Relative Error vector—sc Relative Error vector—sc Relative Error vector—sc Relative Error

vector—sc Relative Error

m;=140. MeV (mass 2)
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m;=180. MeV (mass 3)
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m;=590. MeV (mass 16)
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m;=640. MeV (mass 17)
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m;=670. MeV (mass 18)
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